

## **Public Safety Meeting**

# AGENDA

August 5, 2008

# I. CALL TO ORDER

## II. MATTERS BEFORE COMMITTEE

- 1. <u>Approval Sale of Seized 1996 Toyota T100 XTRA Cab</u>
- 2. Purchase 2004 Whelen CVPI

# III. <u>ADJOURN</u>



## **Public Safety Meeting**

#### AGENDA

### August 5, 2008

ltom	•
ICCIII	•

Approval - Sale of Seized 1996 Toyota T100 XTRA Cab **Department:** 

Police Additional Information:

1996 Toyota T100 XTRA CAB VIN# JT4TN12D2T0016368 Ga Tag ANC8229 Financial Impact:

Money to put in police condemned account. **Budgeted Item:** 

**Recommendation / Request:** 

Approve listing of vehicle on www.govdeals.com for sale.

Viewing Attachments Requires Adobe Acrobat. Click here to download.

Attachments / click to download

Cover Memo



### **Public Safety Meeting**

#### AGENDA

### August 5, 2008

ltom	•
ICCIII	•

Purchase - 2004 Whelen CVPI **Department:** 

Police Additional Information:

**Financial Impact:** 

\$13,000 Budgeted Item:

Condemned Assets Account **Recommendation / Request:** 

Viewing Attachments Requires Adobe Acrobat. Click here to download.

Attachments / click to download

- Memo 2004 Whelen CVPI
- Page 1 of Quote
- Page 2 of Quote

Cover Memo



Monroe Police Department To Protect and to Serve

# Memorandum

To: Public Safety Committee From: Chief M. Keith Glass Date: 8/1/2008 Re: 2004 Whelen CVPI

I request your support and approval in purchasing a 2004 CVPI from West Chatham Warning Devices with \$13,000.00 from our condemned assets fund.

The vehicle was used to demonstrate Whelen emergency equipment, it has approximately 48500 road miles on it. The Kelly Blue Book retail value of the vehicle is \$11,700.00, the vehicle has \$9552.31worth of emergency equipment on it (see attached).

WEST CHATHAM WARNING DEVICES, INC 2208 GAMBLE RD SAVANNAH, GA 31405

# Quote

PHONE (912) 234-2600 FAX (912) 238-1369

- -

Customer No.: MONROEPD Quote No.: 17319

#### Quote To: MONROE POLICE DEPT

ATT: LI SIMS 227 SOUTH BROAD ST. MONROE, GA 30655

#### Ship To: MONROE POLICE DEPT

227 SOUTH BROAD ST. MONROE, GA 30655

FAX NUMBER:

Date 07/22/08	Ship √ia	F.O.B. Origin	Terms NET 30	1
Purchase Or	der Number	Sales Person	Q	uote Expires
		PATRICK PADGETT	10/20/08	
Quantity	Item Number	Description	Unit Price	Amount
1	GRH-5038	PUSHBUMPER CV 03-08	180.00	180.0
1	SET-10SCV	10-S LEX/POLYCARB CAGE CV HORIZ SLIDING WINDOW	385.00	385.0
2	WHE-40BB5SCR	400 DUPLEX LINR LED BLU/BLU	159.00	318.0
2	WHE-4EGRILI3	4E/43 BLACK HOUSING W/SWIVEL Grille-Master Black Housing w/ Swivel Bracket for 400 Sr	45.00	90.0
2	WHE-TLN2BB	TALON DUAL LED DASH LGHT B/B	294.75	589.5
2	WHE-TLNBKT2	DUAL TALON HEADLINER BRACKET	9.38	18.7
8	WHE-R\$B03ZCR	TIR3 SYNC LED LTHEAD BLUE	66.75	534.0
2	WHE-RBKT2	ANGLE BRACKET FOR TWO TIR3 OR LIN3 (NOT FOR RV SERIES)	13.50	27.0
1	HAV-C-TIR3-CV	CV Tag Brkt for TIR3 or LIN4	32.80	32.8
1	WHE-PCCS9F:	PCCS9R SWITCH CONTROL Switch Control w/ Built-in Relays Standard Switching	285.75	285.7
1	HAV-C-SP-3B	3 Switch Plate w/7 Label Black Switches	195.20	195.2
1	WHE-295HFS 1	295HFSA1 SIREN AMPLIFIER Siren Amp Now w/ Park-kill *DISCONTINUED SEE 295SLSA1	288.75	288.7
1	WHE-TLNCV5BB	REAR DECK TALON'S 05CV B/B fits around 3rd brake light	339.00	339.0
1	HAV-C-ML-LP?	2 Plate w/Map Light & Two 12VDC Lighter Outlets	84.80	84.8
1	HAV-C-3190	Trunk Mount Radio Tray for 95-08 Crown Vic	152.80	152.8 Item # 2
1	WHE-CSP818)	8 Outlet 180 Watt Output	255.00	255.0

WEST CHATHAM WARNING DEVICES, INC 2208 GAMBLE RD SAVANNAH, GA 31405



PHONE (912) 234-2600 FAX (912) 238-1369

1

· · ·

Customer No.: MONROEPD Quote No.: 17319

#### Quote To: MONROE POLICE DEPT

#### Ship To: MONROE POLICE DEPT

227 SOUTH BRIDAD ST. MONROE, GA (10655 227 SOUTH BROAD ST. MONROE, GA 30655

FAX NUMBER:

Date 07/22/08	Ship /la	F.O.B. Origin	Terms NET 30	
Purchase Order Number		Sales Person	Quo	te Expires
	and the second	PATRICK PADGETT	1(	0/20/08
Quantity	Item Number	Description	Unit Price	Amount
8	WHE-HA238C	HA238 BULB W/15' CABLE Flange Mount/2 screws	47.25	378.00
1	WHE-UFM8	8 OUTLET UNIVERSAL FLASHR Eight Outlet Halogen/LED Flasher 60 Watt per outlet 2	120.00	120.00
1	WHE-SLPMMI3B	SLIMLGHTER MM BLUE/BLUE	268.50	268.50
1	WHE-MBCV98BB	MIRROR BEAM CV98 BLU/BLU \$ For 1998-2005 Ford Crown Victoria	120.75	120.7
1	WHE-SL8BBBB	LIBERTY LC 49 BLU/BLU/BLU/BL	1750.00	1750.0
1	HAV-C-1800	18 Console complete with mounting Brackets	195.20	195.2
1	HAV-C-ARM	ARMREST REAR MOUNT	55.20	55.2
2	WHE-SA315P	SA315P SPEAKER BLK PLASTIC mt brkt (sak*) not included	135.00	270.0
2	WHE-SAK17	CROWN VIC 03-08 MT BRKT	24.00	48.0
1	ABL-112741C HAB	LED CHAMELEON AMB/BLUE	871.30	871.3
1		abl-111000ch	199.00	199.0
1.000		to install above equipment	1500.00	1500.0
	Quote subtotal		9552.3	
		Quote total		9552.3